Applying maths to everyday situations —

Name

www.md4ths.com

Add the first 7 odd
numbers

2+4x1=

Bill is 20 years older
than Fred. Fred is 15
years older than Jim.
Jimis 9, how old is Bill?

Order these decimals.
Smalles first

0.01, 0.201, 0.121,
2.0001, 2.1

A Gas bill costs £520 a
year. How much is that
each week?

Add together 1 day, 3
hours and 60 minutes.
Write your answer in
hours

A team gets 2 points for a
win, 1 for a draw and -1
for losing. Team A won 3,
lost 1 and drew 1. How
many points did they get?

Bill spends £3 a day on
food, £2 a day on drink
and £1 a day on
sweets. How much in
total does he spend
each week (not per
item)

| can walk 40 miles in 4

days.

How many can | walk in:
0] 1 day
(i) 5 days

(iii) 10 days

A dolphin ate 63 fish in a
week. How many was this
each day on average?

There are roughly 4
weeks in a month. If you
had 3 cans of coke a
day how many would
that be in a month

Find the odd one out and
state why:

2,8,13,16,22,26

Round these numbers
to one decimal place:
(a) 2.46

(b) 1.23

(c) 3.67

Ho many toes in total do
11 people have?

You leave the house with
a £20 note and spend
£6.31 and £3.28

How much do you go
home with?

On average it rains for 7
days each month. How
many days in a year
would you expect it to
rain?

| take 8 steps forward, 3
back, 1 forward, 7 back, 1
to the left, 1 to the right
and 3 back. How far away
am | from where | started?

Bob has 1 pink sock for
every 5 blue socks. (i)
How many pink socks
has he got if he has 20
blue (ii) how many blue
socks has he got if he
has 3 pink?

An F1 car does last 3
laps of a race were

(1) 1.43.231

(2) 1.42.780

(3) 1.43.012
What was the total time
taken for the 3 laps?

A football match starts at
3pm. The first half is 45
minutes. Half time follows
which takes 15 minutes.
What time should the
game end if there are no
stoppages?
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Add the first 7 odd
numbers

2+4x1=

Bill is 20 years older
than Fred. Fred is 15
years older than Jim.
Jimis 9, how old is Bill?

Order these decimals.
Smalles first

0.01, 0.201, 0.121,
2.0001, 2.1

A Gas bill costs £520 a
year. How much is that
each week?

Add together 1 day, 3
hours and 60 minutes.
Write your answer in
hours

A team gets 2 points for a
win, 1 for a draw and -1
for losing. Team A won 3,
lost 1 and drew 1. How
many points did they get?

Bill spends £3 a day on
food, £2 a day on drink
and £1 a day on
sweets. How much in
total does he spend
each week (not per
item)

| can walk 40 miles in 4

days.

How many can | walk in:
(iv) 1 day
v) 5 days
(vi) 10 days

A dolphin ate 63 fish in a
week. How many was this
each day on average?

There are roughly 4
weeks in a month. If you
had 3 cans of coke a
day how many would
that be in a month

Find the odd one out and
state why:

2,8,13,16,22,26

Round these numbers
to one decimal place:
(a) 2.46

(b) 1.23

(c) 3.67

Ho many toes in total do
11 people have?

You leave the house with
a £20 note and spend
£6.31 and £3.28

How much do you go
home with?

On average it rains for 7
days each month. How
many days in a year
would you expect it to
rain?

| take 8 steps forward, 3
back, 1 forward, 7 back, 1
to the left, 1 to the right
and 3 back. How far away
am | from where | started?

Bob has 1 pink sock for
every 5 blue socks. (i)
How many pink socks
has he got if he has 20
blue (i) how many blue
socks has he got if he
has 3 pink?

An F1 car does last 3
laps of a race were

(4) 1.43.231

(5) 1.42.780

(6) 1.43.012
What was the total time
taken for the 3 laps?

A football match starts at
3pm. The first half is 45
minutes. Half time follows
which takes 15 minutes.
What time should the
game end if there are no
stoppages?




